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MATHEMATICS
Class : VII ] (Max. Marks : 20) [ Time : 45 Min.
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Name of the Student : Roll No. : ..cccveeune.
L. Solve the following problems. 4x1=4
& (§08 JHJgoc FEoWW.

II.

1.

The median of 13,16,12,14,19 is
13, 16, 12, 14, 19 © 5océ§ﬁéo

A
2. The value of x in the adjacent figure is 200
(©8), HE0&S°, X Jed 70° X
B C D
3. If two angles are supplementary, then those two
angles are [ ]
B0 Seren DoJrEsrenT wod, & 3ok Searen
a) Acute angles b) Obtuse angles
v e ¥ §eoren
c) Right angles d) Straight angles
©o8’gren J8Y Segren A
4. In AABC, aD is called
AABC o0& AD & ©0trd.
BE D F C
Solve the following problems. 2x2=4

Bob JHJgoo FHowN®.

5.

The ages (in years) of 10 teachers in a school are 32, 41, 28, 54, 35, 26,
23, 33, 38, 40.
FETOS 10 5008 GIFgoine $098Y (DosgTros’)
32,41,28,54,35,26,23,33,38,40
i) What is the Range of the above data?

D &S&ro¥o RBwE), TR Do ?
ii) What is the Mean of the above data?

D &@r0d0 Bg) JKéw o ?
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6. The ratio of three angles of a triangle is 1 : 2 : 1, then find the angles of
the triangle.

0.8 (Be0220S°Q Sk §eore NG 1: 21 1 ©ond, & (BeHzos
§er0 QeSO Eofr8rb80?

III. Solve the following problem. 1x4=4
Bod I3 FHowS®.
7. Identify which of the following pairs of angles are complementary and
which are supplementary
808 TEBS® FoE S ado, Jods Sore sdoln HBowod.
i) 65° 115° i) 63°,27° iii) 112°,68° iv) 130°,50° v)45°, 45°
vi) 30°, 150°, vii) 60°, 30°, viii) 20°, 70°
IV. Solve the following problems. 1x8=8
8od SIS OO0,
8. a) i) Solve4(m+3)=18
FBoWod : 4(m+ 3) =18
i1) The sum of three times of a number and 11 is 32. Find the number?
2.8 Dogg Bo0E) Soorchy Ty $oasn Mo J0go 32. @08 & Hopgdd

oS0k ?
(Or)
b) In the adjoining figure, identify c
58 HLOS® 808 T KBOHOs. Z
4 a
i) The pairs of corresponding angles 3 O !
= 2
DSydgSerre wden 3 (Z 5
ii) The pairs of alternate interior angles 7 z) 6 b

DsroEY Eeared 23fen

iii) The pairs of interior angles on the same side of the transversal
BEFRPE 2,83 &) VoSS erw B

iv) The vertically opposite angles
30750 §egren
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VII -Mathematics -Solutions
Prepared by :BALABHADRA SURESH

1. The median of 13,16,12,14,19 is 14

Sol: Ascending order: 12,13,14,16,19

A
Median=14
50°

2.  Thevalue of x in the adjacent figure is 1200 20° X
Sol: Exterior angle = Sum of interior opposite angles = " 2

x =50°+70° =120°
3.  Iftwo angles are supplementary, then those two angles are [c]

a) Acute angles b) Obtuse angles ¢) Right angles d) Straight angles

4.  InAABC,ADiscalled 3 &

Sol: Altitude.

BE D F C
5. The ages (in years) of 10 teachers in a school are 32;41,28, 54, 35, 26, 23, 33, 38, 40.
i)  What is the Range of the above data?
Sol: Range = Highest value — Lowest value = 54 =23 = 31

ii) What is the Mean of the above data?
Sum of all observations 23 +26%28+32+33+35+38+40+41+54

Sol: Mean = number of observations _ 10

350 35
=I5 =
6. The ratio of three angles of atriangle is 1 : 2 : 1, then find the angles of the triangle.

Sol: Let the angles are x, 2x3x
x + 2x + x = 180°(Angle’sum property of triangle)
4x = 180°
180°
x = = 450
The angles are 45°, 2 x 45°,459 . e 459,909, 45°
7.  Identify which of the following pairs of angles are complementary and which are supplementary.
i) 659, 1150ii) 630, 27%ii) 1120, 680 iv) 130°, 50° v) 459, 459 vi) 300, 1500, vii) 609, 309, viii) 200, 700

Sol: (i) 6594+115°=1800 (v) 4509+450=900
659,115%are supplementary angles. 450,459 are complementary angles.
(i) 63094270=9(00° (vi) 30°+1500=1800
639,27%are complementary angles. 309,1500 are supplementary angles.
(iii) 112°4-68°=180° (vii) 60°4300=900
1129,680 are supplementary angles. 609,30% are complementary angles.
(iv) 130°4-50°=180° (viii) 20°4700=900
1300,500 are supplementary angles. 200,70%are complementary angles
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8. a)i)Solve4(m+3)=1

Sol: 4(m +3) = 18 (OR)
Divide both sides by ‘4’ Sol: 4(m + 3) = 18
4(m+3) 18 4m + 12 = 18 (Distributive law)
4 4
4m =18—-12
9
m+3=3 4m =6
=2 3 ing 3 to RHS _8_3
m=g- (transposing 3 to ) m=-=3
_9-6 3
M= T2

(ii) The sum of three times of a number and 11 is 32. Find the number?
Sol: Let the number = x

From problem: 3x + 11 = 32

3x = 32 — 11(transposing 11 to RHS)

3x =21

Divide both sides by ‘3’

3x 21
3 3
x=17

The required number is.7.
b) In the adjoining figure, identify.

i) The pairs of corresponding angles.

_\J—-
A=y
L

I3

z1and 25, 242and 46, s3and 47, <4 and 48. ¢ 7:)

ii) The pairs of alternate interior angles. 87,

A

L. |
P

=3

=g

23 and 25, <«2and 48

iii) The pairs of interior angles on the same side of the transversal.
23 and 28, <2 and 45

iv) The vertically opposite angles.

¢zland 23, <«2andz4, <«5ands7, <6and 48
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